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Strongly agree

[BUS847] International trade involves
Labour

[BUS847] International trade is more costly than domestic trade
Strongly agree

[BUS847] Which of these is not an advantage of international trade?
One country may gain more than another

[BUS847] Exchange of capital, goods and services across national boundaries is
International trade

[BUS847] International trade is not restricted to
Relationship

[BUS847] Countries will produce and export goods that is relatively convenient for them
in line with
Heckscher-Ohlin theory

[BUS847] One of the assumptions of comparative advantage theory is
Labour is the primary input to production

[BUS847] The law of comparative advantage was propounded by
David Recardo

[BUS847] Mobility of factor is a typical characteristic of
International trade
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